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Q An air-standard Diesel cycle has a 

compression ratio of 14. The air 

conditions before

compression are 1 bar and 27ºC. The 

maximum temperature of the cycle is 

2500ºC.

Determine the

(i) temperature and pressure at salient 

points of the cycle.

(ii) network output per unit mass of air.

(iii) thermal efficiency                                                                                    

15 marks      
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Q A U-tube manometer is used to 

measure the pressure of water in a 

pipeline, which is in

excess of atmospheric pressure. The right 

limb of the manometer contains mercury

and is open to the atmosphere. The 

contact of water and mercury is in the left 

limb.

Calculate the pressure of water in the 

main line, if the difference in the level of 

mercury

in the limbs of the U-tube is 10 cm and the 

free surface of mercury is in level with the

center of the pipe.15 marks      
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Q Give the differences 
between impulse turbine and 
reaction turbine. 

15 Marks
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